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Remember to stu Oizzes, homework, and your notes!

For #1-4, find the expression that is equivalent to the given expression.
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5. The an of a rectangle is (6x” +7x +2)square inches and the length is (3x +2) inches. Which expression
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6. A square has an area of 25x* +20x+4 square feeté F:lnd the length of the square.
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8. Which binomial is a factor of 2x* —3x =27
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For #9-10, find the greatest common factor. Smo “QS{ ..
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Use exponent rules to simplify expressmns in #11-12. RQV \'Q Ww! ‘
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13. Which binomials are a difference of two quares?
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omial is modeled below using algebra tiles.
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